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Mechanical Systems


Quiz - Le 22
  Name: ____________________
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1. 
Point A has a constant velocity of 10 m/s to the right. Determine the velocity and acceleration of point B when  = 30(.  Hint:  Don't you dare say the acceleration of point B is zero!

Velocity Solution:
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Expanding and equating components:
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(1,2)

From the constrained motion and geometry, 
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.  Knowing that 
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 allows us to solve (1,2) and get
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Acceleration Solution:
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Expanding and equating components:
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(3,4)

From the constrained motion and geometry, 
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.  Knowing that 
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 allows us to solve (3,4) and get




[image: image14.wmf]2

2

ˆ

154

ˆ

0

ˆ

77

s

m

j

i

a

s

rad

k

B

AB

-

=

=

a


1 m











G





A





B





All velocities and accelerations are assumed positive!





� EMBED Equation.3  ���





� EMBED Equation.3  ���
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